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T—ILA | A8 [teaxsmEl Ll un| Rl RS B B [Bryr|xevi|evix| Ba | ka |mrsax| BAL
ma/ g 21 - 14|21 - 16(21 - 6| 3 0 3 0 | MAX]| 63 36 | 1.75 1
ek HwE(14 - 21 9 - 21(21 - 7 1 2 1 2 0.50 44 49 0.90 3
L/ Aa|16 - 21121 - 9 21 - 11| 2 1 2 1 2.00 | 58 41 | 1.41 2
/A=l 6 - 21| 7 - 21(11 - 21 0 3 0 3 [ MIN| 24 63 | 038 4
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7 —IUB [ ma| &) B | B2 8| mR S AN B B [Beyr|xevi|ey x| Ba | ka |mrsax| BAL
peup g2l 21 - 14|17 - 21|21 - 10| 2 1 2 1 2.00 | 59 45 | 1.31 2
FIN/ |14 - 21 14 - 21|21 - 9 1 2 1 2 0.50 49 51 0.96 3
B2 fE8|21 - 17|21 - 14 21 - 5| 3 0 3 0 | MAX]| 63 36 | 1.75 1
A/ AN[10 - 21|19 - 21|5 - 21 0 3 0 3 [ MIN| 24 63 | 038 4
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T—ILA (ST /B | A BR| B K[ LA R B B |#evb|sey by bE| 1§88 | K& [Exax| B
=17/ 8 21 - 5|21 - 11f21 - 6| 3 0 3 0 | MAX| 63 22 | 2.86 1
At /HER| 5 - 21 21 - 16|21 - 9| 2 1 2 1 2.00 | 47 46 | 1.02 2
BARSAKRILL - 2116 - 21 21 - 12| 1 2 1 2 0.50 | 48 54 | 0.89 3
b /m$l 6 - 2119 - 21(12 - 21 0 3 0 3 MIN | 27 63 | 0.43 4
KIBEOREIRDIEETSD O BE @ wvhbE O BEAX @ BEEWSR

7 — VB [XEREE| I FEER| BN AE =R B B |#evb|sey by bE| 1§88 | KA [Exax| B
KR/ EE 14 - 21110 - 21|21 - 9| 1 2 1 2 0.50 | 45 51 | 0.88 3
I FEEE(21 - 14 12 - 21121 - 13| 2 1 2 1 2.00 | 54 48 | 1.13 2
Mz /mE21 - 10({21 - 12 21 - 9| 3 0 3 0 | MAX| 63 31 | 2.03 1
me/=k[9 - 21113 - 21|19 - 21 0 3 0 3 MIN | 31 63 | 0.49 4
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